| L2 COMPUTE time per input event Entries 3489288 | rate of COMPUTE | Envies 3489288
x10° Mean 8.792 . Mean 1015
L2 F : : : : : : : N F
S400f - ---- eneaeas eeeneas PR eaeenns eaeenns PR LS 6.459 < RMS 553.2
s F : : : : : : : @
> - N N N N Underflow o] ﬁ)oo _ )| underflow 0
350 Overflow 521 > Overflow  1.568e+06
: : : : : : : : [
300HH---- Heeeeeas FETRERES Feeeeees Feeeeens Feeeeens RS EERETETE FRPEPPE | ||
: : : : : : : : 800 -
3L R ENCS Ee [N ek S e S '
S S S 600
200+ o e Froneee Froneee AR A
150 eyl U U U O SO U U W 1 3 1
100 [
: : : : : : : : 200
SR S S L R S i
0 11 1 L i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 O_I 11 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1

0 20 40 60 80 100 120 140 160 180

x: COMPUTE time (CPU KkTics)

0 200 400
x: time in this run (seconds)

600 800 1000 1200 1400 1600 1800 2000

total events. O=anylnput 10=anyAccept 11=normalAccept 12=rndAccept Entries 4417884
Mean 1.551

RMS 2.037

Underflow 0

Overflow 0

| AT PR WA MR AR W
8 10 12 14 16 18
Input: O=compute. Anything else=Contact Expert

L2-etow-calib: seen tokens Entries 3489288
Mean 2048
§2}
S RMS 1182
>,
SD.BOO Underflow [o]
=
700 Overflow 0

400

300

200

100

111 1 i 111 1 i 111 1 i 111 1 i 111 1 i 11 1 1 i 111 1 i 111 1 i
O0 500 1000 1500 2000 2500 3000 3500
x: token value

4000

Thu Jun 23 18:59:43 2016

ETOW #tower w/ energy /event Enties 3483288
" Mean 24.6
§ : RMS 26.86
Q
o
3 Underflow 0

Overflow 1.378e+06
10°

10*

||||i||||il|||i||||i||||i||||i||||i||||i||||i||||

0 10 20 30 40 50 60 70 80 90 100

x: # ETOW towers

#ETOW towers / event , Et>1.50 GeV Entries 3489288
s Mean 1.653
10 :
RMS 2.035
10°
104 e T e
R I S S S S
10 _E
10f oo : f f : :
E 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1

0 5 10 15 20 25 30

x: # ETOW towers




[ ETOW tower, Et>1.50 GeV (input)

Entries

Mean

4025762
412.6

10*

RMS 233.2
700

x: ETOW softID=ip+60%in

Entries 4025762
Mean 0
RMS 0

768.8 768.9 769

x: ETOW softID=i@+60%*in

Entries 4025762
Mean 0
RMS 0

Entries 4025762

P
768.8

768.9 769
x: ETOW softID=i@+60%in







ETOW tower, Et>1.50 GeV (input)

| -
@]
P’
(&
()]
7p]
O
o
|_
l
=
O
=
o
>

I
o

12
X: eta bin, [+2,+1]
Thu Jun 23 18:59:43 2016




